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Counts 

Activity Quantification  

FIA(t) 

Fit Compartment Model 

Residence Times τ = ∫ FIA(t) dt 
MIRD S values  

(OLINDA) 
Target mass 

Dt/A = Σ ts St←s 

Biological Effective Dose  

Radiobiological parameters 
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S values should be interpolated to provide patient specific values  



Easy to perform 

Advantages: 
Imaging not 
necessary 

Ward staff, 
carers can take 
measurements, 
without entering 
the shielded 
room 

Courtesy of G. Flux - Royal Marsden Hospital - Sutton (UK) 



TB counting: Geiger counter and ratemeter 

Cost for high activity measurements - <€1000 
(eg mini-instruments MC70 low sensitivity + scale ratemeter) 

Courtesy of G. Flux - Royal Marsden Hospital - Sutton (UK) 
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d • Very critical dependence on d!

• d is often unknown!
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Attenuation correction factor ACF!





57Co trasmission scan 57Co blank scan 



Transmission scan! Blank scan! ACF! Alternate possibility: CT scan…! Slide 19 



57Co transmission scan 

57Co blank scan 

For Cobalt-57 

Liver ACF  = √7.1 

Lung  ACF = √3.3 













111In-hLL2 ANTI CD22 

4 ROIs  

For each source organ  

for each time point 

24 h 96 h 48 h 72 h 



Montecarlo simulation of scatter effects 99mTc 
Michael Ljungberg (Lund - Sweden), 1998 

Ideal Total 

Scatter 
under 
peak 

Scatter  
full 

spectrum 
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Variation of f in water
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Max!

mm


SR: 6 mm 
SR: 12 mm 

Depends on:!
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Reduced effect after 
scatter correction 



131-I mIBG 6 h p.i. 8.9 GBq 









Dose difference with/without dead 
time correction: 3 times 

DT corr. 





X=water level 





The sphere in air still is out of the curve:  

TEW scatter correction cannot solve the scatter problem  
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